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N4 SM6E10816H (k) IR#AE BIE (FF3E10A 208 (K)IRF)
T4 BERE I HH AT EFEA) W H A1 HEHEHB) & EHAHB)=(C) H A A= ED) HEHEIE) B EHD)HE)=(F)
R6.10. 14534 5 LS £t TR B =z H 5 iz £ g 3 = F
Eh 222,024 262 258 520 0.23 0 0 0 262 258 520 188 166 354 0 0 0 188 166 354
At 252,552 72 60 132 0.05 0 0 0 72 60 132 399 370 769 0 0 0 399 370 769
B (2K) 70,857 17 13 30 0.04 0 0 0 17 13 30 148 134 282 0 0 0 148 134 282
B (3X) 181,695 55 47 102 0.06 0 0 0 55 47 102 251 236 487 0 0 0 251 236 487
FEm 101,899 89 63 152 0.15 0 0 0 89 63 152 75 53 128 0 0 0 75 53 128
PR 129,722 41 49 90 0.07 0 0 0 41 49 90 49 50 99 0 0 0 49 50 99
4 112,971 33 25 58 0.05 0 0 0 33 25 58 95 93 188 0 0 0 95 93 188
fnEET™ 158,205 144 122 266 0.17 0 0 0 144 122 266 75 80 155 0 0 0 75 80 155
%5k 63,201 86 87 173 0.27 0 0 0 86 87 173 80 93 173 0 0 0 80 93 173
EBEM 13,858 87 80 167 1.21 0 0 0 87 80 167 18 12 30 0 0 0 18 12 30
&L 39,212 24 44 68 0.17 0 0 0 24 44 68 26 21 47 0 0 0 26 21 47
BPm 14,438 26 24 50 0.35 0 0 0 26 24 50 12 7 19 0 0 0 12 7 19
REEFmh 13,307 23 17 40 0.30 0 0 0 23 17 40 15 13 28 0 0 0 15 13 28
W 35,946 20 21 41 0.11 0 0 0 20 21 41 48 28 76 0 0 0 48 28 76
SET 39,550 47 42 89 0.23 0 0 0 47 42 89 138 121 259 0 0 0 138 121 259
RE™ 68,983 78 69 147 0.21 0 0 0 78 69 147 50 56 106 0 0 0 50 56 106
it 1,265,868 1,032 961 1,993 0.16 0 0 0 1,032 961 1,993 1,268 1,163 2,431 0 0 0 1,268 1,163 2,431
A IRET 4,673 5 8 13 0.28 0 0 0 5 8 13 3 3 6 0 0 0 3 3 6
[Z 4 EB5T] 4,673 5 8 13 0.28 0 0 0 5 8 13 3 3 6 0 0 0 3 3 6
REHT 20,965 15 29 44 0.21 0 0 0 15 29 44 40 31 71 0 0 0 40 31 71
[E 5 8B5T] 20,965 15 29 44 0.21 0 0 0 15 29 44 40 31 71 0 0 0 40 31 71
IR EFHT 33,212 12 13 25 0.08 0 0 0 12 13 25 32 33 65 0 0 0 32 33 65
B HT 8,635 8 5 13 0.15 0 0 0 8 5 13 23 18 41 0 0 0 23 18 41
JIIESHT 12,426 15 10 25 0.20 0 0 0 15 10 25 24 12 36 0 0 0 24 12 36
[=E#B5T] 54,273 35 28 63 0.12 0 0 0 35 28 63 79 63 142 0 0 0 79 63 142
% HT 11,498 22 14 36 0.31 0 0 0 22 14 36 29 36 65 0 0 0 29 36 65
BAFOET 18,923 99 103 202 1.07 0 0 0 99 103 202 25 30 55 0 0 0 25 30 55
KEHT 7,207 26 25 51 0.71 0 0 0 26 25 51 33 32 65 0 0 0 33 32 65
[Z X EBET] 37,628 147 142 289 0.77 0 0 0 147 142 289 87 98 185 0 0 0 87 98 185
F R ET 12,455 11 8 19 0.15 0 0 0 11 8 19 10 7 17 0 0 0 10 7 17
E=HET 6,582 32 22 54 0.82 0 0 0 32 22 54 25 13 38 0 0 0 25 13 38
KHcET 6,577 12 7 19 0.29 0 0 0 12 7 19 22 21 43 0 0 0 22 21 43
PR EART 9,826 30 26 56 0.57 0 0 0 30 26 56 22 13 35 0 0 0 22 13 35
[E=ARET] 35,440 85 63 148 0.42 0 0 0 85 63 148 79 54 133 0 0 0 79 54 133
Ao b ET 12,236 51 30 81 0.66 0 0 0 51 30 81 19 16 35 0 0 0 19 16 35
[Jt & ZARET] 12,236 51 30 81 0.66 0 0 0 51 30 81 19 16 35 0 0 0 19 16 35
{E0EHT 6,855 12 17 29 0.42 0 0 0 12 17 29 19 20 39 0 0 0 19 20 39
HoEHT 8,731 8 5 13 0.15 0 0 0 8 5 13 16 5 21 0 0 0 16 5 21
EE2 250 15,586 20 22 42 0.27 0 0 0 20 22 42 35 25 60 0 0 0 35 25 60
BTET 180,801 358 322 680 0.38 0 0 0 358 322 680 342 290 632 0 0 0 342 290 632
BEt 1,446,669 1,390 1,283 2,673 0.18 0 0 0 1,390 1,283 2,673 1,610 1,453 3,063 0 0 0 1,610 1,453 3,063
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HAH AR E(A)-(D)=(G) THEEREB)-(E)=(H) &5 (G)+H)=(D HABAMREG)/D) &%) | AHEEFHRZEH)/E) %) SEM)/F) (%) THET 4
3 = it 5 = F 3 = H 3 = i E: = it 3 = &t
74 92 166 0 0 0 74 92 166 | 39.36 | 5542 | 46.89 39.36 | 5542 | 46.89 |[;ZMH
-327 -310 -637 0 0 0 -327 -310 -637 | -81.95 | -83.78 | -82.83 -81.95 | -83.78 | -82.83 |m BT
-131 -121 -252 0 0 0 -131 -121 -252 | -88.51 | -90.30 | —89.36 -88.51 | —90.30 | -89.36 | WWHT™ ™ (2X)
-196 -189 -385 0 0 0 -196 -189 -385 | -78.09 | -80.08 | -79.06 -78.09 | -80.08 | -79.06 | BT (3X)
14 10 24 0 0 0 14 10 24| 1867 | 1887 | 1875 1867 | 1887 | 18.75 [{F&h
-8 -1 -9 0 0 0 -8 -1 -9| -16.33| -2.00| -9.09 -16.33 | -2.00 | -9.09 |#:BRTH
-62 -68 -130 0 0 0 -62 -68 -130 | -65.26 | -73.12 | -69.15 -65.26 | -73.12 | -69.15 |&&™™H
69 42 111 0 0 0 69 42 111] 9200| 5250| 71.61 92.00 | 5250 | 71.61|8sET
6 -6 0 0 0 0 6 -6 0 750 | -6.45 0.00 750 | -6.45 0.00 |&5E™
69 68 137 0 0 0 69 68 137 | 383.33 | 566.67 | 456.67 383.33 | 566.67 | 456.67 |BEm™
-2 23 21 0 0 0 -2 23 21| -7.69| 109.52 | 44.68 -7.69 | 10952 | 4468 |&ILTH
14 17 31 0 0 0 14 17 31| 116.67 | 242.86 | 163.16 116.67 | 242.86 | 163.16 |&FH
8 4 12 0 0 0 8 4 12| 5333 3077 | 4286 53.33 | 30.77 | 42.86 |REFFTH
-28 -7 -35 0 0 0 -28 -7 -35| -58.33 | —25.00 | -46.05 -58.33 | —25.00 | -46.05 |LNEARTH
-91 -79 -170 0 0 0 -91 -79 -170 | -65.94 | -65.29 | -65.64 -65.94 | -65.29 | -65.64 |EET
28 13 41 0 0 0 28 13 41| 5600| 2321| 3868 56.00 | 2321 | 3868 |R&EM™H
-236 -202 -438 0 0 0 -236 -202 -438 | -18.61 | -17.37 | -18.02 -18.61 | -17.37 | -18.02 mEt
2 5 7 0 0 0 2 5 7| 66.67| 166.67 | 116.67 66.67 | 166.67 | 116.67 |[K = WHHET
2 5 7 0 0 0 2 5 7| 66.67| 166.67 | 116.67 66.67 | 166.67 | 116.67 EXZind
-25 -2 -27 0 0 0 -25 -2 -27| -6250 | -6.45| -38.03 -62.50 | -6.45 | —38.03 |FEHT
-25 -2 -27 0 0 0 -25 -2 -27| -6250 | -6.45| -38.03 -62.50 | -6.45| -38.03 [EFHERET]
-20 -20 -40 0 0 0 -20 -20 -40 | -62.50 | -60.61 | -61.54 -62.50 | —60.61 | —61.54 |FREFHT
-15 -13 -28 0 0 0 -15 -13 -28| -65.22 | -72.22 | -68.29 -65.22 | -72.22 | -68.29 |EH A AT
-9 -2 -11 0 0 0 -9 -2 -11| -37.50 | -16.67 | —30.56 -37.50 | -16.67 | —30.56 |JII;%HET
-44 -35 -79 0 0 0 -44 -35 -79 | -55.70 | -55.56 | —55.63 -55.70 | —-55.56 | —55.63 [=EEBET]
-7 -22 -29 0 0 0 -7 -22 -29| 2414 | -61.11 | -44.62 -2414 | -61.11 | -44.62 | B KHET
74 73 147 0 0 0 74 73 147 | 296.00 | 243.33 | 267.27 296.00 | 243.33 | 267.27 |BAFOMT
-7 -7 -14 0 0 0 -7 -7 14| -21.21 | -21.88 | -21.54 -21.21 | -21.88 | -21.54 | K&HT
60 44 104 0 0 0 60 44 104 | 6897 | 4490| 5622 68.97 | 4490 56.22 [Z K ARET]
1 1 2 0 0 0 1 1 2| 1000| 1429| 11.76 1000 | 1429 | 11.76 |EYRHET
7 9 16 0 0 0 7 9 16| 2800 69.23| 4211 28.00 | 69.23 | 4211 |ELH
-10 -14 -24 0 0 0 -10 -14 -24 | -45.45 | -66.67 | -55.81 -45.45 | —66.67 | -55.81 | K&ZHT
8 13 21 0 0 0 8 13 21| 36.36 | 100.00 | 60.00 36.36 | 100.00 [ 60.00 |Fg{FELHT
6 9 15 0 0 0 6 9 15 759 | 1667 | 11.28 759 1667 | 11.28 [ELERET]
32 14 46 0 0 0 32 14 46 | 168.42 | 87.50 | 131.43 168.42 | 87.50 | 131.43 |#CdALHT
32 14 46 0 0 0 32 14 46 | 168.42 | 8750 | 131.43 168.42 | 8750 | 131.43| [dt&HEZERE]
-7 -3 -10 0 0 0 -7 -3 -10| -36.84 | -15.00 | -25.64 -36.84 | —15.00 | —25.64 |{H;EHT
-8 0 -8 0 0 0 -8 0 -8 | -50.00 0.00 | -38.10 -50.00 0.00 [ —-38.10 [#C=HT
-15 -3 -18 0 0 0 -15 -3 -18 | -42.86 | -12.00 | -30.00 -42.86 | -12.00 | -30.00 | [FEHEZEEE]
16 32 48 0 0 0 16 32 48 468 | 11.03 7.59 468 | 11.03 7.59 BTET
-220 -170 -390 0 0 0 -220 -170 -390 | -1366 | -11.70 | -12.73 -13.66 | -11.70 [ -12.73 Bt




